Wednesday. To solve money problems

Work out the solutions to these worded money problems. Remember to read the question carefully.
What is the question asking you to find? Which calculation method do you need to use?

1) I buy three bottles of juice for 80p each. How much money have | spent
altogether?

2) | buy a pack of pencils for £1 and a notebook for £1.50. How much have |
spent altogether?

3) Mr Worsley buys two ice creams for 70p each and a packet of crisps for 50p.
How much has he spent altogether?

4) Mr Healey bought a bike for £39.98 and a scooter for £9.78. How much
money has Mr Healey spent altogether?

5) | bought two pairs of socks at £2.21 each. | also bought three bunches of
flowers priced £4.70 each. What was the total amount | spent?

6) Mr Worsley bought two jumpers priced at £15.60 each. He also bought four
lollipops which cost 30p each. How much has Mr Worsley spent?



